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01 Choose the correct option for following ques@
) compulsory and carry equal marks S,
1. In BLDC motor field winding is kept on 4
Option A: | Stator RS
Option B: | Rotor
Option C: | Can be placed anywhere
Option D: | Absent ,-7 ;
r 4 The speed-torque charactenstlcs of the BLDC motor are slmilar to that of
Option A: | DC Shunt Motor
Option B: | DC Series Motor
Option C: | Induction Motor
Option D: | Compound Motor
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3. The stator of reluctance motor resembles,
Option A: | Induction. Motor
Option B: | DC motor
Option C: | Synchronous Motor
Option D Conpound Motor —
4. wmctufunz M@M@‘ :
Option A: | Servo tmtor o ;
Option B: | DEmetor ™ &7 & Fiie = Sl el T S8
Option C: | Stepper motor
Option D: { Lmear Induction Motor (LIM) N
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5. &4 : Stegper motor \runs in ‘resslznons(zﬁo’y Lt
u*\~°‘ D LE s BT S
Opﬁqp AP "a programmed u?.xx%of mput ebctncal pulses.
Option B: |’ Pulse Width M (PWM).
‘Option-C: |- Feedback  signa
Option D: " § Pube Position mmn (PPM).
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A Opuon-C:-]50.8 degree
- Option D] 1.8 degree
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O .‘.;g}The direction of rotation of Switch reluctance Motor can be reversed by
ption AY o Chan%the supply terminal 3
~[Changing the Rotor terminal wire
C: k Changing the Stator terminal wire
D:_J<Rotation can’t be reversed
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IR{@AIKRC KRRCA variable reluctance stepper motor has 8 main poles which- hayt§ aeeﬂr =¥
each. If rotor has 60 teeth, calculate the stepping angle. RO IS S

Option A: | 0.9 degree

Option B: | 3 degree

Option C: | 0.5 degree

Option D: | 1.8 degree

9.
Option A:
Option B: | Distributed single phase wmdmg.
Option C: | Solid conducting plate.

Option D: | Distributed three phase winding.

10. Which of
motor?

Option A: | One quadrant

Option B: | Two quadrant

Option C: | Three quadrant

Option D: | Four quadrant
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op,angle of 1.8°. Find
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s required for 50 revolutions and
he stepping frequency is 5000 pulse/sec.
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witécﬁe@l Reluctance motor with necessary diagram? explam the
‘ orking of switched Reluctance motor.
motor and Permanent Magnet Synchronous Motor(PMSM)

P ‘(rfv'b the torque equation of synchronous Reluctance motor.

lain the sensorless control of BLDC motor? What are its advantages?

: ;Ekpbm the principle of working of an linear induction motor and write down

its advantages and disadvantages.
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